
 PARTS INCLUDED 
1 Wolo Bad Boy Chrome Air Horn  
1 Chrome Wolo Bad Boy Air Horn Cover 
1 Horn Mounting Kit Containing: 

1 Wiring Harness
6 4” Black Cable Ties
1 Dielectric Grease Pack

1 Hardware Kit Containing: 
1 Horn Mount
1 Band Clamp
1 M8 X 1.25 X 30mm Socket Head Cap Screw 
1 M8 X 1.25 Nylock Nut 
1 Paint Protector Strip
1 Alcohol Pad

1 Installation Instructions

Please read and understand entire instructions before starting installation.  

THANK YOU FOR CHOOSING KϋRYAKYN! 

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR 
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL       
INSTRUCTIONS, WARNINGS, CAUTIONS AND NOTICES REGARDING THE USE 
AND CARE OF THIS PRODUCT. 

TOOLS SUGGESTED 
Flat Blade Screwdriver, Set of Combination Wrenches, Set of Metric Hex Wrenches, Torque 
Wrench (IN/LBS), Set of Sockets 

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE 
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS.  

STEP 1 Read and understand all steps in the instructions before starting the  
installation. Park the motorcycle on a hard, level surface and turn off the  
ignition. Let cool. 

 NOTE: Suggested mounting locations are the left front down tube or engine
guard (if equipped).

INSTALLATION 

SUPER DELUXE WOLO BAD BOY AIR HORN KIT       7290 

-cont.-

THIS INDICATION ALERTS YOU TO THE FACT THAT    
IGNORING THE CONTENTS DESCRIBED HEREIN CAN 

  RESULT IN POTENTIAL DEATH OR SERIOUS INJURY. 

This indication alerts you to the fact that ignoring the  
contents described herein may negatively affect product 
performance and functionality.

IF INSTALLING THIS PRODUCT FOR ANOTHER PARTY, 
PLEASE MAKE SURE THEY RECEIVE THIS COPY OF THE     
INSTALLATION INSTRUCTIONS SO  THEY ARE AWARE OF 

 THE IMPORTANT INFORMATION CONTAINED IN THEM. 



PAGE 

2

YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST SYSTEM 
DURING INSTALLATION. ENSURE THAT THE ENGINE 
AND EXHAUST SYSTEM HAVE FULLY COOLED TO  

   PREVENT INJURY. 

STEP 2 Disconnect the lead wires from the horn and remove the horn from the 
motorcycle.

STEP 3 Decide on a location for mounting the new Wolo Bad Boy horn, usually on 
the left (clutch) side down tube of the motorcycle. Test the chosen  
location by holding the mounting block and horn it and verifying  
clearances between the horn, mount and any component on the  
motorcycle. Wipe the area with the included alcohol pad. Test fit the  
paint protector strip to the desired mounting area. PIC 1 Cut the  
protector strip to length, remove the backing and attach it to the area.  

It is the installer’s responsibility to ensure that there is           
adequate clearance between the Super Deluxe Wolo Horn 
and any component on the motorcycle. Küryakyn is not  
 responsible for any damage due to inadequate clearance.  

STEP 4 Open the included band clamp all the way to release the end from the  
screw housing. Wrap the clamp around the frame. Thread the end of the 
clamp through the opening in the mount and back to the screw housing 
of the clamp typically as shown in PIC 3. Insert the end into the screw  
housing and torque the clamp to 60 IN/LBS. 

STEP 5 Using the included M8 X 1.25 X 30mm socket head cap screw and 
M8 nylock nut, attach the Wolo Bad Boy horn to the mount. Verify 
clearances between the horn, mount and any component on the  
motorcycle. Tighten securely.  

MAKE SURE THE NEW SUPER DELUXE WOLO HORN 
DOES NOT INTERFERE WITH ANY COMPONENT OR 
MOVEMENT OF ANY COMPONENT ON THE   

   MOTORCYCLE. INTERFERENCE WITH COMPONENTS  
   OR THEIR MOVEMENT MAY CAUSE LOSS OF CONTROL 
   RESULTING IN SERIOUS INJURY OR DEATH. 

STEP 6 Remove the seat or side cover to gain access to the battery. Connect the 
ring terminals on the new Horn Wiring Harness to the battery, red wire to 
positive and black wire to negative. PIC 2 

STEP 7  Route the wires under the fuel tank, or down along the frame to 
the new horn.

Secure all wiring from the newly installed and/or 
from existing parts, away from any moving parts, 
pinch points or extreme heat. Küryakyn WILL NOT 
 issue a warranty on any electrical component that  
 fails due to pinched, crimped, broken, abraded,  
 melted or frayed wires. 

STEP 8  Secure the wiring harness with the provided cable ties. Be  
certain the wires are away from any pinch points or direct heat. 

STEP 9  Connect the BLACK wires with the male spades from the new 
Harness to the horn wires on the stock wiring harness.  

WOLO BAD BOY AIR HORN  INSTALLATION

-cont.-

PIC 4 BATTERY 
POSITIVE 

BATTERY 
NEGATIVE 

TO HORN 
WIRES ON 
STOCK 
HARNESS 

TO POSITIVE  
(REAR) SPADE 
ON HORN 

TO NEGATIVE 
(FRONT) 
SPADE ON 
HORN 

PLUG RELAY 
IN HERE 

PIC 1

PIC 3 

PIC 2 

TEST FIT AND ATTACH 
PROTECTIVE STRIP 

LOOP CLAMP 
AROUND FRAME 
AND THROUGH 
MOUNT 

TIGHTEN BAND CLAMP 



PAGE 

3

STEP 10 The WHITE wire with the female spade connects to the positive rear spade, marked with a (+), 
(PIC 5) on the Wolo Horn. The BLACK wire with the female spade  
connects to the front negative spade, marked with a (-), (PIC 5) on the 
Wolo Horn.

STEP 11  Under the seat, plug the horn relay on the new wiring harness to the  
relay connector located a few inches from the battery terminals. PIC 4 

 NOTE: Wrapping the joint between the relay and the relay plug with
electrical tape will help keep water and debris out. 

Secure the relay in a location so the relay terminals up and it 
is protected from the elements (road grime, rain, or washing 
the bike). 

STEP 12  With the relay in place, turn the key to check the horn function with the 
OEM handlebar mounted horn button. If you do not have horn function, 
review all connections.

STEP 13  Replace the seat or access panel over the battery. 

AFTER INSTALLING THE SEAT, PULL UP ON IT TO    
ENSURE IT IS LOCKED INTO PLACE. A LOOSE SEAT 
CAN SHIFT AND CAUSE LOSS OF CONTROL  

   RESULTING IN SERIOUS INJURY OR DEATH. 

STEP 14  Tighten all fasteners. 

STEP 15 Clean the top of the Wolo Bad Boy Horn with the included alcohol pad.  
Allow the area to dry completely. PIC 6

Ensure the area of installation is free of grease, oil, dirt or other debris including 
wax/polish products and bugs to ensure proper adhesion. Küryakyn WILL NOT     
issue a warranty on any parts lost due to improper installation. 

The adhesive may not correctly bond if applied at temperatures less than 50°F. Do 
not attempt this installation in temperatures less than 50°F. 

STEP 16 Test fit the Cover to the Wolo Bad Boy Horn. Rub the backing  on the adhesive strip to activate the 
adhesive before applying. Remove the backing. Press the Cover into place for 1 minute to ensure  
proper adhesion. Full bond strength will occur within 24 hours. 

IT IS THE INSTALLER’S RESPONSIBILITY TO ENSURE THAT THERE IS 
ADEQUATE CLEARANCE BETWEEN THE WOLO HORN AND ANY 
COMPONENT ON THE MOTORCYCLE. IMPROPER CLEARANCE MAY CAUSE 

   LOSS OF CONTROL RESULTING IN SERIOUS INJURY OR DEATH.   
   KÜRYAKYN IS NOT RESPONSIBLE FOR ANY DAMAGE OR INJURY DUE TO 
   INADEQUATE CLEARANCE.   

It is the installer’s responsibility to ensure that all of the fasteners (including      
pre-assembled) are tightened before operation of the motorcycle. Küryakyn will 
not provide warranty coverage on products or components lost due to improper 

   installation or lack of maintenance. Periodic inspection and maintenance are  
 required on all fasteners. 

Ride On! 
WOLO BAD BOY AIR HORN  INSTALLATION

PIC 6 

CLEAN THIS AREA 

PIC 5 POSITIVE SPADE 

NEGATIVE SPADE 

Find more Kuryakyn products on our website.                                                  Discover other motorcycle horns on our website.

https://www.motorcycleid.com/kuryakyn/
https://www.motorcycleid.com/horns.html



